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An account credits interest using a simple discount rate, d. A deposit of X attimet =0
accumulates to 2X at time t = 5. Determine the time at which the account will have 4X.
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An account credits interest using a simple interest rate, i, for the first three months, then a

discount rate of 6%, convertible monthly, for the next nine months. Thereafter, the account
credits interest using an interest rate of i, payable quarterly, which is equivalent to an annual
effective discount rate, d. An initial deposit of 2288 accumulates to 10,000 at the end of five

years. Determine d. g01i } &(la\
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